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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. General PART-11 Examinations, 2018

Economics-General

Paper-ECOG-II
Time Allotted: 3 Hours Full Marks: 100
Thefigures in the margin indicatefull marks. stjf&t _wir
Candidates should answer in their own words fizsm <srmw K-tr&m'sm
and adhere to the word limit as practicable.
Group-A
1 Answer any ten questions from the following: 2x10=20
iHMiidiin5 Wrtfir TRQG
(a) Distinguish between Nominal National Income and Real National Income.
"WR 3 sticiri \C*ti <Wi i
(b) Define transfer income.
Triei
(c) What is effective demand?
‘<PTH#fl W (TTRni ?

(d) What is consumption function?

(e) What is demand inflation?

(D What is high powered money?
'SP ‘BT fc3?
(9) What is velocity of circulation of money?
'51C&. 3 0-1*1 C3%t1% 9
(h) What is bank rate?

C?i5?
(i) Distinguish between direct and indirect tax.
acrjt>e vtgj i

()) What is Marginal Efficiency of Capital?
'wetra tf~oi foie's BocNchit ?
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(k) What do you mean by value of money?

(I) What are terms of trade?

(m) What is protection?

419

(n) What do you mean by Gross National Product or GNP?

2047

GNP ~iosft (3E4I9

Group-B

Answer anyfive questions from the following
(MHsHtii *{fuf$ ACT2 <3
Discuss any two methods of measuring National Income. State the problems
relating with these measurement methods.
"faift 'SHWIc* I~ Hft5T™M
e

What do you mean by Acceleration Principle? Explain with the main
assumptions how it works.

753 »5)ft *STCS1%C7TRIt 9 A 4 B J I

What is the velocity of circulation of money? Explain the Fisher’s quantity
theory of money. What are its limitations?

T5ic«6) *1ft ft ? ft*ITCRI *1ftSim ATWt <TOIL “I] % rR5F5 t«ft ft
ft?

What are functions of a Commercial Bank? Explain the process of credit
creation by the Commercial Banks.

S#iftpF ftft9 IcwW «itSiR® ?13r A

Define inflation. Discuss the different causes of inflation. What are the
effects of inflation?

*TC¢ Tita 9 ftft9 ftft9

What do you mean by effective demand? Explain how equilibrium is
determined by effective demand in the simple Keynesian model.

bIRI ft GIGNO 4ChM FIfttl?! <TKj(7u Fr W
'Em! AoA i

16x5 = 80

10+6

4+12

2+10+4

6+10

2+8+6

4+12
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10.

11.

(a)

(b)

(©)

What do you mean by monetary base of a country? Explain the concepts of
Mi, M2, M3as the indicators of money supply.

CW C/R[ TO c Mt ? 'SjvfctPlUICR iKULIMIT, m2m3
an mwsfa 1

Discuss the Ricardian theory of comparative cost as the basis of
international trade.

Define direct and indirect taxes. Discuss the advantages and disadvantages
ofthese two types of taxes.

srer* '‘Qw ? 1™~ swra Tg it« 1

Write short notes on any two of the following:
TiIT"W\5 A

Gains from International trade

Credit control policy
HIM 4

Investment multiplier
fifiBIPt 5056

(d) Public debt.

2047

8+8
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4+12
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Time Allotted: 3 Hours

Thefigures in the margin indicate full marks. sftfap Iwr?w ? xi
Candidates should answer in their own words
and adhere to the word limit as practicable. (™7 Vfa-tl

(@)

(b)

(©)

(d)

(€)

(o

(9)

(h)

(i)

)

(k)

(1

Group-A / faeN-5

Answer any ten questions from the following:
CT-CTOt Wkfft XK

What is primary sector?
State two characteristics of Indian economy.

What is marketable surplus?
feRT "milJ S'p 9
What is “vicious cycle of poverty’?

Define 'trickle down effect’.
HerZarf-s.t SRBT*'31i

Mention two objectives of 12lh Five Year Plan.

5T VSCHi»ll SCB’{ <T\Wt |

What is ‘NUT Ayog?

‘NiTi’ «tianv fc 9

Mention two causes of rapid growth of population in India.
WS # < Celt'S |

What is seasonal unemployment?

Write two causes of nationalization of banks in India.

<]n i
WhatisNABARD?
9
What is GST?
*+fl '3 ?

Full Marks: 100
faufa hu
2x10 =20

(m) Mention two major sources of tax revenue of Central Government in India.

2048

Siw i WitTi N i
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(n) Write two main sources of finance of large scale industries in India.

(o) Write two heads of government expenditure of India.

10.

2048

«KW5 "(CIf1 3BBILIgh NGl GACHT

Group-B / ft'slst-*

Answer anyfive questions from the following
R#HT*N\5 CHHTCR rflbfi! 2f?I3/S<! WG
What is income inequality? Mention major causes of rising income
inequality in India. Discuss the measures undertaken to reduce income
inequality in India.
RRApRI f% 9'SfiBo £»V3»RR '‘®RL «W R RR
HCT  {o3pp$t m*\ H3I SPIV* tst '51tWIN 371 |

What are the main causes of law productivity in Indian agriculture? Write in
brief the remedial measures undertaken to reduce low productivity in
agricultural sector in India.

'STii~»i "je §* M tW stleidll 33R Hpm fa fT 1% ? W
NT v+<+]| SRI RIMIEHI H(3I |

What are the major reasons of indebtedness of Indian farmers? Explain the
nature of agricultural credit provided to Indian farmers.

w Sto fw zw 3iftsr$5i<i Hpmsfa Hipsldt Hemi r-wsv pj jhph *x¢
<F<m <1

Analyse the changes taken place in industrial development in India during
the plan period.

5in ftCB3 fofSIR (2 X0 & fHSR'Il <PC3t|

Discuss in brief the role of Reserve Bank of India to control inflation.
fArst4tt?€toki'is gjics3 4wt i

Define direct and indirect taxes with examples. Which type of taxation is
significant in raising revenues in India as a developing country - Give
opinion.

2Fej*sf <3 <K33 A\®1 WQ i£)3° VE'i|r<ict *rfQ | 05i<in>*TA (7*f 31|f5]
quiffs (HR 3?RH3 3>3 AstHs WQI

Population and development: a two way relationship — Explain.
0'SS - fAjfl SIftS®-—Rt? TRt 3 |

Discuss the nature of foreign trade in India in recent years.

mstrafcH HBH Nfd??5R Sfffe 'SUWIbRI W5\ |

What are the objectives of India’s Five Year Plans? To what extentthose
objectives have been fulfilled?
»<1CO3 *Hf3H?RGI $C+v*irA  1h 9X? <= 19
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